Signature and Name of Invigilator

1. (Signature)
(Name)

2. (Signature)
(Name)

D—-3105

Time : 1%4 hours]

Answer SheetNo.: ..o,
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No.

(In words)

Test Booklet No.

PAPER—II
LINGUISTICS

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of this

page.
This paper consists of fifty multiple-choice type of questions.

gt o foag fder
1. T8 g8 o SR o T W A9 Ia TR faten |
2. TOYE-TH § U agfashedia e €
3. e R B W, Yo~ YRRt ST9eR! < < ST | TR i e

10.
11.
12.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :

(i) Tohaveaccess to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a
booklet without sticker-seal and do not accept an open
booklet.

(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the question booklet
will be replaced nor any extra time will be given.

(i)  After this verification is over, the Serial No. of the booklet
should be entered in the Answer-sheets and the Serial
No. of Answer Sheet should be entered on this Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Bample: (2 ® ©

where (C) is the correct response.

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test question booklet to the invigilators
at the end of the examination compulsorily and must not carry
it with you outside the Examination Hall.

Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.

There is NO negative marking.

YT Yo R T o1 STkt Frefafaa site & forg &3

ST TSRt St STTIeh! ST A ©

(i) TRA-gRKeR Eier & foTT Sk e U1 T &t TSt ht
T ! RIS T | Gell gg A1 o Rie-Hia i giRaeht
AR AH|

(ii) O YUY T BY FEITTHR U9T-YTehT o U A4T U9 et
AT o 3T NE ook Y ot Toh A UTE | TogUi giaent
T g/ woe o w & T gET o T & A e A E
reia feReit ot W T FfeUUT UfTehT iehT 7 aht qerm
ST TH S A ETeRT S8k T UR T8t Ha WoeT-gfent
A | THR Forw 3mmaent e fire fed oIt | Seeh eg =
T MUK YYT-YRTeRT AT T ST 3T T & 3Taeht
sifafies wwe fear ST |

(iii) T = % 1S IO - YRR i HH HEAT STk W Sifh
Y SR ST ! FHH T 39 T -Tfeent W 3iferd F
K

T T feTT R S fashed (A), (B), (C) 7 (D) fed m § 1

STIHT T ST o eI BT T R HTeAl HEAT € ST o =y

T T

s CAD ® O

& (C) TE IW T

T o S heel U9 U 1 oh S1aY e T8 STk W E SHfeRa

FA B | AfE 3 SR o W g3 T3 e o st fohdt o=t

T W IW FogifeRd F ¥, A TR JeaienT 721 e |

a1 g 3 Frdeil =t eAmgele 9g |

%= & (Rough Work) S5 gfeiet o 1f<am 98 W |

FfG AT ITR-GRTRT TR ST AT A1 T s off e Foresy et

Te= B Gk, TRt off 9T R g A SifeRd K ¥ o Tlen %

e sreima s R o3 ST |

YT TeT THTE B R IT-Yfaqeh Friersh 7eIcd 1 @l

TeEe § S TiaT TAIY o o5 ST |ref el e ¥ sl 7

TR ST |

10. ShaeT Sl / ehTel SITeT WSS U ohT & SEIHTe o |
11. TRt off W hT HITUTeR ( heTehele ) AT @IT oIet 3Tfe <ht

TR afia sl

12. TTeTd 3T o foTu 37eh & sh1e ST |

D —-3105

P.T.O.



LINGUISTICS
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

The notion of linguistic relativity relates to Linguistics and
(A) Political Science (B) Philosophy
(C) Psychology (D) Anthropology

In the sentence John loves Mary , the noun John has :
(A) No case (B) A morphological case

(C) Abstract nominative case (D) Oblique case

Match the items of List - I with List - II and select the correct answer from the codes
given below :

List - I List - I1

(a) Syllabification (i) Semantics

(b) Componential analysis (i) Phonology

(c) Lexi costatistics (iii) Morphology

(d) Back formation (iv) Historical linguistics
Code : @ M) () ()

(A) (i) (v) @)

() v) O @i @)

(@ @ @ Gv) G

(D) O ) G @)

Substantive universals include :

(A) Object, predicate (B) Noun, verb

(C) Distinctive features (D) A-over-A principle

Phonology, morphology, syntax are :
(A) branch of linguistics (B) levels of linguistics analysis
(C) parts of language (D) approaches to linguistic analysis

Specialization as a ‘design feature” of language implies :
(A) Human being can learn special languages

(B) The human brain has a special language organ

(C) Languages are special communicative systems

(D) Human beings have to be trained to learn a language
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A : T TS | e (50) 9g-fahedia ue ¥ 1 Ue U % & (2) 3ok &1 el el o I

T
1. I{treh GTYSTAT ol Geiel §, o7 form qe -

(A) TSHIfG S (B) <3 WA (C) wHIfoR™ (D) ¥4 fagm
2.  ’Johnloves Mary’amﬁwmn%:

(A) ek e (B) TUEAHS FIH

(C) 3T hdl FNh (D) Tl wreh
3.  dIfcIshl-1 o difershl-11 & fiemsa qon i fod gu e 9 98 S g

aTfeTehT - 1 afeTeRT - 11

(a) &R favsH () o1 foqm

(b) EeH Torgersom (i) = gte

(c) ¥ Wit (iii) EI-T

(d) o BREYHE (iv) Rfereoe s o

#S:(a) (b) () (d)
A) @) @) @

(A) wH, faem (B) Eal, BRa
(C) UHSH A& (D) A-over-A fag
5. eaft gk, ®9 A1, a1 foae €
(A) o fome &t ey (B) e forweison & wR
(C) T % 37 (D) e faweror =t fafert

6. ST T o &IV & &Y H Afeifyeror 9 qread ©
(A) e s 9T S Hehar € (B) WM Wik | ek S a9 oo g §
(C) ooTd fodiy GOR =@ ® (D) o1 ©iaH o fore A o1 gfeifard e ear ©
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7.  Assertion (A) : Language influences writing.
Assertion (B) : Writing also influences language.
(A) Either (A) or (B) is true
(B) Only (A) is true
(C) Only (B) is true
(D) Both (A) and (B) are true

8.  Linguistics differs from Philology as it draws its material from :
(A) spoken as well as written source
(B) only spoken source

(C) only written source

(D) none of these

9.  The following three are among the communicative functions according to Roman
Jakobson :
(A) Emotive, literary, conative
(B) Metalinguistic, referential, social

(C) Emotive, conative, referential

(D) Conative, emphatic, referential

10. An individual in a speech community has :
(A) single linguistic identity

(B) a specific linguistic identity
(C) multiple linguistic identities
(D) atleast two linguistic identities
11. Portmanteau morph contains :
(A) Three morphemes (B) Two morphemes
(C) One morpheme (D) Empty morph

12. The forms work, worker, working are :
(A) three words as well as three lexemes

(B) three words but one lexeme
(C) three words but two lexemes
(D) three lexemes but one word
13. Two sounds which are always in free variation are :
(A) Phonologically conditioned (B) The phoneme of a language
(C) Allophones of the same phoneme (D) Archiphoneme
14. Two sounds in complementary distribution are allophones of the same phoneme, if
they are :
(A) phonetically similar (B) homorganic
(C) phonetically dissimilar (D) of the same part of speech
15. The symbol [N] in the IPA chart stands for :
(A) Voiced bilabial nasal (B) De-voiced velar nasal
(C) Voiced uvular nasal (D) None of these
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10.

11.

12.

13.

14.

15.

IIFRT (A) : T, WA hl JuIferd w2

AIRYT (B) : TG & | hl YT il § |

(A) A (A) T (B) TA § (B) A (A) TH T

(C) % (B) T & (D) T (A) IR (B) T ©

T fagme, T e W 3Efey et € il 9 oTal STemE Arul W Rl €
(A) wifge & -y fafad Sl § (B)  hadt Aitges il 9
(C) Faw fafea &l 9 (D) 394w H 9 ®E &

YA e & SFTTER Fe dH o S g H 9 ¥
(A) vETHs, wifeferh, s (B) v, fafdmefs, @S
(C) raTcHeh, e, ffemes (D) @i, Trqehieeh, FHfdprels

fordlt s e # =afh i UgeH Bl §

(A) THA ek T8=H (B) TAfe=a wfve o=

(C) gtk Tgam (D) T9aH QI HIfYeh Jga™
HYH TIH B € ¢

(A) o &= (B) T ®H (C) TH &H (D) T &=

“work, worker, working” - ®9 g

(A) 9 wes T & A At (B) i ¥z foheg Tk Afem
(C) o s fohrg 1 feH (D) o Ifefm, T v

T et < g6 foawor | wedt € 3 et ¥

(A) & giRan gidef-ea (B) TS =1 Tk W@ H
(C) T W & H&H (D) 3ThiEafH

i eafEl aRyEes foror & W 2 € 3 T & Wi H HE o ¢, Afe ST el |
(A)  EFT=ATCHE FHMA (B) EEEAMI
(C) A=ITHSE STHHT (D) T & ar favm &t €

MU, =1 B elloh [N] =6 el © :
(A) HeY fgurfess e (B)  STeIdishd ha &R
(C) TN sTaAfga ek (D) STH H | HE T
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16.

17.

18.

19.

20.

21.

22,

23.

Phonetic corrilates of stress are :
(A) loudness, accent, shortening
(B) Intonation, voicing, lengthening

(C) Tone, accent, aspiration

(D) Loudness, pitch change, extra breath force

In Tamil voiceless consonants in intervocalic position change to voiced, involving the
process of :

(A) Palatalization (B) Neutralization
(C) Dissimilation (D) None of these

One of the following groups has sounds with the distinctive feature [+ spread glottis] :
(A) m, 1 bh B) p rh (C) zn,gh (D) ph h, gh

Consonants produced with the transition from one articulatory position to another
articulatory position are called :

(A) Trill (B) Lateral (C) Glides (D) Nasals

Match items in List - I with List - II and select the correct answer from the codes given
below :

List - I List - II
(a) Nasalization (i)  Air stream process
(b) Voicing (i) Articulatory process
(c) Palatalization (iii) Phonation process
(d) Ejectives (iv) Oro-nasal process

Code : @ @) () ()
(A) @ (v) @) (i)

(B) (iv) (D) @) @)
(©) i @ (@v) (i)
(D) (i) @) @ @)

Classification of pada-jatani (nama, akhyata, upasarga, nipata) in sanskrit was based
on:

(A) Morpho-syntactic criteria (B) Morphological criteria

(C) Semantic criteria (D) None of these

The notion of ‘semantic field” relates to :
(A) speech act theory (B) componential analysis

(C) conversational analysis (D) discource analysis

Complete the following sentence by choosing one of the words in the parenthesis :

In the sentence “The man has divorced his wife”, the sentence that the
“Man” is married.
(A) entails (B) implies (C) pre-supposes (D) None of these

D —-3105 6



16.

17.

18.

19.

20.

21.

22.

23.

SATE T ST Tl §

(A) ToIeTdl, TR, BEATehl (B)  YeieTdl, FelydI, <Teidn

(C) M, TH=, HRTITOTT (D) Yeierdl, L-ufverd, Afdis vameed
et o ToRgeedt STe <o, Fee § afdfdd g Sd €, 9 Wiha sheard §

(A) TR (B) frfdueertm

(C) formiisrao (D) U4 H 9 I T

frefafed = augl § 9 T 998 § 99 a1 A0 [+ spread glottis]  :
(A) m, 1, bh B) p,rh (C) zn,gh (D) ph h, gh

Teh SRV T I THY ARV 3T § HHAU o GR W o SANT e € ~ | hal sl
g:

(A) it (B) Ui (C) ITGEN (D) e
IfeTehl-1 o W] o1 AlfeTehl-1l & ¥eal 9 e Sifse 3R e # fod g 3 & § 98t SW

aTfeTahT - 1 arfeTahT - 11

(a)  SATANHRIRI () Ig-garE gt
(b) S (i) SR YGHA
(c) drcTeHTIRul (ili) T gHAT

(d) feferd (iv) @4k g
FIS:(a) (b) () (d)

(A) @  Gv) (@) (i)

(B) (v) (D) @) ()

© @ @ @Gv) @)

(D) (i) (@) @3 (iv)

TEhd H IS ITehIoT hT SR o

(A) €9 AR A (B) &Y EATCH TI&T0l

(C)  =meff aeqo (D) 3WH H | HE T

“aneff & 1 Hehea T 1 HelH ¥

(A) <N FeR fagr (B) ¥ fawerom

(C) YT forgeraom (D) e fagetm

Hgh | ¥ U A o MR R 91 9198 1 Q0 i

“The man has divorced his wife” Ig s & “Man” foanfea g1
(A) entails (B) implies (C) pre-supposes (D) TTH 9 hIg &l

D —-3105 7 P.T.O.



24.

25.

26.

27.

28.

29.

30.

31.

In the sentence, “you should do it yourself”, the expression ‘yourself’ is :

(A) areflexive (B) a reciprocal (C) an emphatic (D) a pronoun

The expressions “shirt’ and ‘clothes” are examples of :

(A) hyponymy (B) antonymy (C) synonymy (D) homonymy

In the sentence, “The police beat the thief with a stick’. the verb ‘beat’ is subcategorized
for :

(A) three arguments (B) two arguments
(C) one argument (D) no argument
The sentence ‘“The letter which the postman who brought is an old man is

very important, is ungrammatical because it violates the :

(A) The co-ordinate structure constraint

(B) The sentential-subject constraint
(C) The complex NP constraint
(D) The Upward Bounded constraint

Terms such as ‘subject’, ‘direct object” and “indirect object’ represent :
(A) Pragmatics relations (B) Categorial relations

(C) Notional relations (D) Grammatical relations

In the sentence ‘Mary ate the pie with a fork”, the case marker ‘with” is an example of :
(A) dative case (B) objective case

(C) ablative case (D) instrumental case

Which one of the following ungrammatical sentences violates the coordinate structure
constraint ?

(A) Whom does he know a boy who studies ?

(B) What did stories about frighten the child ?
(C) Whose did you take autograph ?
(D) Which boy did you see my sister and ?

The reference of an expression most closely corresponds to :
(A) its connotation (B) its denotation

(C) its contextual meaning (D) its implied meaning

D —-3105 8



24.  “You should do it yourself”, am& H s1f¥=afd “yourself” T :
NIREEEIEED (B) URERH
(C) 3TaURH (D) G

25. afﬂwﬁb‘qi “shirts”, “clothes” - 3@l g
(A)  SToIH (B) faretmneleran
(C) HHTH (D) HHERATCHEA

26. “The police beat the thief with a stick”, a1 Y 5531 “beat” 1 ST f7 & forq S

(A) T (B) T (C) TH Th (D) I ek Tl
27. “The letter which the postman who brought ........ is an old man is very important” -

g ST STATHIH € Hiteh g8 F=fafed stfashaor s g1

(A)  FHFTHT AT STeadl (B) aTRITFRdl STEA

(C) Sifedd NP arean (D) el Siferd smeFan

28. ‘“‘wut”, ‘‘yeaed wu ' IR oTycet HH ' - WIsg wiAH ohid € T Heiel o
(A) “Irifer” day (B) I Wy
(C) HehcoUdTcHeh Haiy (D) AR Heel

29. “Maryate the pie with a fork”, I a9 H Rk fa8® “with” - ISR Azl
(A) THEH FRH (B) HH T
(C) 3TUIRH 6Tk (D) U FHRH

30. fr=fafed sreameftms ael | 9 SiF |1 o GUHEIHga TEET STEad o7 @ 6 © ?
(A) “Whom does he know a boy who studies”?
B) “What did stories about frighten the child” ?

(
(C) “Where did you take auto-graph” ?
(D) “Which boy did you see my sister and” ?

31. fowet sifyeafs o1 ged fr & 9 waifues fee @
(A) & (B) Afyyened (C) ey (D) Trfeard
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32.

33.

34.

35.

36.

Match the items in List - I with List - II and select the correct answer from the codes
given below :

List - I List - II
(a) Bodo (i) Indo - Aryan
(b) Bhumij (i) Dravidian
() Konkani (iii) Tibeta Burman
(d) Kota (iv) Austroasiatic
Code @@ () (o (d)
(A) O @) @) (i)
(B) (i) (@v) @ @)
(© i @ @) @O
(D) (v) @@ @ ()

Relative chronology provides :

(A) the time of the sound changes

(B) the order of the sound changes
(C) the distribution of the sound changes
(D) the time and space of the sound changes

Language family establishment is based on common inheritence; where as language
sub-grouping is based on :

(A) common retention (B) parallel development

(C) common innovation (D) common loss

Match the criteria given in I with the type of language grouping in II by choosing
correct code below :

List I List II
(a) Inheritence (i)  Typological grouping
(b) Isomorphism (ii) Areal grouping
(c) Contact (iii) Genetic grouping
Codes : @ (b) ()

@A) G 6 (i)

® () @) 0

© Gi) @) @

D) Gi) () ()
Vietnamese language is a good example of :
(A) Inflectional language (B) Agglutivative language
(C) Isolative language (D) Synthetic language

D —-3105 10
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33. HUfaTeR ShieTshiHehal & gRI UTH BIidl @

ATfetaht - 11
() WA 3T
(i) wIfae

(iii) o

(iv) STe-ufereTE

(B) & uferds =1 |
(D) =& IREde & 999 3R Y8R

34. T-URER & TATYAT 1 SR TR Bl § STalfech YT o STEHERL 1 STHR Bl

g
(A) HHM STIER
(C) HHM eitehu

(B) HHMR forentd
(D) THM g

35. dfciehl-l § Ued SMHR & Tfcenl-11 H 8 T8 9o el o Yehil &l e s oiR = fou

T H § el Sl g
aTfeTehT - 1

36. ToadaTHt e R

arfetert - 11
(i)  TRUISTRe HHEH
(i) &= T
(iti) AR TG

(B) ANTIcHR TS
(D) Hi¥ey wre

11 P.T.O.



37.

38.

39.

40.

41.

42.

43.

Internal Reconstruction utilizes resources available from :
(A) related languages (B) unrelated languages
(C) asingle language (D) two related languages

Which of the statement is correct ?

(A) Most of the Indian languages are verb-final and none of them have pleonastic
elements

(B) Not all Indian languages are verb-final, but all have pleonastic elements
(C) Most of the Indian languages are verb-final and have expletive/ pleonastic elements

(D) There is only one Indian language which is verb-final and no Indian language
has pleonastic/explicative elements.

The concept of “India as a linguistic area” is based on :

(A) common features found in same languages

B) common features found in most of the languages of geographical area
inherited features found in languages

diffused features found in an area

The diachronic approach :

(A) Considers the written form to be more important than the spoken form
B) Focuses on historical development of languages and their varieties
Concentrates exclusively on written records

Ignores structural properties of non-literary languages

The problem of language and dialect can be resolved :
(A) on the basis of literary tradition

(B) on the basis of social evaluation

©)

(D)

on the exclusive basis of principles of mutual intelligibility

on the exclusive basis of speakers attitude

The variable rule mechanism differs from linguistic rules in that it incorporates :
(A) linguistic environment and conditions

B) social variables

both social variables and linguistic contexts

)
D) linguistic variables

Interference in L, learning is on account of :
(A) social pressure (B) knowledge of L;
(C) poor knowledge of L, (D) poor learning skills

D —-3105 12



37.

38.

39.

40.

41.

42.

43.

AR G 1 3 g1 SUCTs TIeHT b SYART i €

(A)  HE g (B) srawEfe wTd
(C) TS THal {1 (D) T T o
A IR o FA s §?

(A) AR TR AT STafpan 9o ¥ iR stfushuda 6 2

B) |l WRdT AoTd sT=AfHan e e ¥ foheg weft stferepudia €

C) STferehier WRATE WToTd ST=afshan 9o €, SR S STqeh/ Sifreud™ a )

D) had Ueh & RATE 9T SA=A06a1 9o § IR forsft off vreftar wmen stfererudiar/ ST awen
T

(
(
(

Teh T &5 & ®9 H YR ! Gehoul, ol SR T :
(A) Hiqog wToIet H U 99E d&0 (B)  SAfUeRi & WS | e HHE e
(C) et # uTH Afereh e (D) e & | UM wwied § faqa aerm

FHICThHe TG — 911 & fafaa &9 &1 difas ®9 9 1fee Jemed < ¢ ¢
A) 9 % fafed &1 @1 Hifes ®9 9 iy Ted YSH A 2

B) W % Ufqeriaes foehm iR SHet fafasrar W &AM Hied & €|
C) quia: foafaa Tt w o T 2

D) el wrsii ot SEHIH TEAIsT i SUET HY ¢ |

(
(
(
(

o1 3R St S T B g T YRR Y @ ghar e
(A) wfefcaeh T o STER T

(B) TSI foeht™ o STTER W

(C) hael IREARe aY TRl & fHET o SR W
(D) helel IBT it TG o STTHR W

et e gonett wiftes frem § safag fim € fof s e affod ©
(A) e afterer qen feufa (B) @ISR et
(C) ISk qREd! qem wiftes Hes S &1 (D) wifves aferd!

L,-31ftrm & ey 1 & gr e ®
(A) HHISR el (B) L,wIAA
(C) L, JM & 9@ (D) SATRTH T &9a1 Sl HHT
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44.

45.

46.

47.

48.

49.

50.

Code - switching and code - mixing are defined in relation to :
(A) the word (B) the sentence (C) the discourse (D)

The concept of ‘Inter language’ claims that in language learning :
(A) Errors occur in a systematic way

(B)  Errors occur because of interference from another languages
(©

(D)

Errors can be avoided

Errors are desirable

Stuttering :

(A) is always a genetic disorder
(B) is an acquired disorder

(©

(D)

is neither a genetic nor an acquired disorder

is none of the above

Speech pathology :

(A) has no scope for examination of language data

B) has scope for examination of language data

has scope for examination of both speech and language data

has scope of examination of only brain pathology

A defining feature of a cognitive theory of a language is :
(A) linguistic behaviour (B) linguistic interaction

(C) linguistic communication (D) linguistic knowledge

Diagnostic tests are designed to :

(A) prepare language teaching materials for the mentally challanged
(B) determine the areas in which learners may need help

(C) determine the achievement levels of learners
(D)

evaluate the proficiency of learners at the end of a course

Language planning involves :

(A) Planning for better pronunciation of language

B) Planning for preparation of good text books

Planning for the growth and development of language

Systematic and conscious attempt at standardization of language
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44.

45.

46.

47.

48.

49.

50.

i Yfierd a1 shie g 1 f=1 & dei | aftfed foren s @

(A) W (B) A (C) wif® (D)

‘TR TS 1 FHehouHT 1 e © T o Saferm # -
(A) FfeaT w Frafaa &9 # =feq 2t §)

(B) IfeAl Tl A1 % SN ScUe A & HRO wfed Bt 7|

(C) FfeHi =1 iR feram T Hehell S |

(D) At i ¥ |

Tehellee ¢

(A) T At fagmfa T (B) T AfrEia I g1
(C) 7 STgaifveh Y &, 7 AR a9 | (D) ST § § HE T

amﬁmésama:

(A) TS FIRAT o TUEIUT A 1S STIER TEl ¢ |

(B) TS Wt 3 TSIV BT ST ¥ |

(C) o1 WAt ST SR SRR SHI o T S STaE T |
(D) It Afsh IR o Teror 1 TR T

TS & HHTcHe g o arfefires ieqor € .

(A) ¥ SEER (B) fen 1= Fom=n
(C) TR Hwo (D) iR |
itk Tlteror st fwfor feran S €

(A) HHfE® &9 G srfed fanfei o fag it smsft fafo 29
(B) fot & & foneneft =61 Tererdn st e19en & STk UfEH & faw)
(C) Torameff & s1ferm & TR % aRa™ & faw)

(D) Tordlt & & 311 | frenefl =61 FHereran o o o fag

a1 fem & e ®

(A) ¥ o IR IARY & foe FmsH

(B) 3181 U Gdehi o fHfol & forg e
(C) ¥R =t Hafg Td fas ?q Fasm

(D) 1 < AR 3] F9d T
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